Subject: IBETA error message when using TM_TEST function
Posted by bradbury on Wed, 25 May 2005 21:00:20 GMT

View Forum Message <> Reply to Message

Hi,
When | use the TM_TEST function, | sometimes get an error message that
reads:

"IBETA: X must be in the interval(0,1)"

| usually have no problem with the TM_TEST function, expecially when
using regualarly gridded data. However, the problem has come up, in
this case, while using observational (climate) data that have some
missing values ("-999").
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